Y9 Srclt @13/ RAILWAY RECRUITMENT BOARDS
& o otRotg - T & ot b - CEN01/2019- NTPC

AR

[Participant ID
Participant Name

Test Center Name

Test Date 29/01/2021

Test Time 3:00 PM - 4:30 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1 aff 0 &1 #F ‘"= T A F GEET FEAT 3G alb = 2(a-b) &; #X B F HT ‘TON F=A T
FEAT AT aBb =§ ab &, dr (8@6)0(6@4) F AT T Hiferw|

ans K148
X2 36
X312
v 24

Question ID : 9489114588
Option 11D : 94891118352
Option 2 ID : 94891118351
Option 31D : 94891118349
Option 41D : 94891118350
Status : Answered
Chosen Option : 3




Q2 gt Tg em= (), st FET gE
e K. diEs, 1911

X 2 &g, 1910

X3 Oz, 1908

V' 4 SEET, 1907

# g T AT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114621
94891118484
94891118483
94891118482
94891118481
Answered

1

Q3 53736 & 7 ¥ TuEhT # 3t HfRE T @ O F9 ST

A X177
v 2 707
X3 777
< 4 770
Question ID : 9489113646
Option 1 ID : 94891114581
Option 2 ID : 94891114582
Option 31D : 94891114584
Option 4 ID : 94891114583
Status : Answered
Chosen Option : 2
Q.4 et vard gamwr scafeia g arer R o Amr w HTHE IRYTF ghe & AT ST B
Ans X 1. gTE (watt)
< 2 9TERd (pascal)
X 3. ofEqET (ampere)
v a:zri’r“ (curie)
Question ID : 9489114611
Option 11D : 94891118442
Option 2 1D : 94891118444
Option 31D : 94891118443
Option 4 ID : 94891118441
Status : Answered
Chosen Option : 4




QS5 o & g 3w O B WG F 5 a9 3 §, S sy swdr o $r oy ® 5 e ¥ A A

g FEG! TN A A 4 99 o) & I Fr 9w g Fw g

e K124 7%
v'2 40 a¥
X3 42 ¥
X4 25 ay

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1 9489114576

194891118301
194891118303
1 94891118304
1 94891118302

Status : Answered
Chosen Option: 2

Q6 26,000 & Ferdd R 10% H ot H &I @ 2 I F THI1§ b AT HATY

Ans o 1. 21,260

< 2 21,230
< 3 21,240
< 4 31,250
Question ID : 9489113658
Option 11D : 94891114632
Option 2 ID : 94891114629
Option 31D : 94891114630
Option 4 ID : 94891114631
Status : Answered
Chosen Option : 1
Q.7
foeadr e FT HIE H=OT 38T gl
A i
" XK. SarenHEr 9eR (Volcanic Plateau)
X 2. 8 9o (Doomed Plateau)
v 5. {ETaadT 98X (Intermontane Plateau)
< 4 AT I3 (Erosional Plateau)
Question ID : 9489114625
Option 11D : 94891118499
Option 21D : 94891118500
Option 31D : 94891118498
Option 4 1D : 94891118497
Status : Answered
Chosen Option : 3




Q8 et SieHe T HRUSET WASAT § o T F HH T ¥

Ans X1 YRt s (radioactive emissions)

X 2. fAaTas g1+ (exhaust emissions)

X 3. golglad 3cH=id (electron emissions)

v 4. IEET S 3cEST (greenhouse gas emissions)

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

9489114635

1 94891118540
1 94891118537
1 94891118539
194891118538

Status : Answered

Chosen Option : 4

Q9 vw wEw & Fwew § ufy 7 10% 1 iF @ ¥ A F swdh FmEer 1,000 1 e o A

THH FAAEETT g2 T 1,331 g Swen?

Ans X135
X225
<32
i3
Question ID : 9489113660
Option 11D : 94891114638
Option 2 ID : 94891114639
Option 3 ID : 94891114640
Option 4 ID : 94891114637
Status : Answered
Chosen Option : 4
Q.10 :
4sin’6 + 5cos*0 T FYAGH AH AT HIATI
Ans x 1. 1
v 4
<32
<40
Question ID : 9489113670
Option 11D : 94891114678
Option 21D : 94891114680
Option 31D : 94891114679
Option 4 ID : 94891114677
Status : Answered

Chosen Option :

1




" 314 @ A AT AT

Ans J 1 3
1. 8=
90
X2 g2
90
X3 3ok
90
X1 312
90
Question ID : 9489113650

Option 11D : 94891114599

Option 2 ID : 94891114600

Option 3 ID : 94891114597

Option 4 1D : 94891114598

Status : Answered
Chosen Option: 1
Q.12
FHerfawm #r 7qar gl

e X1 T (Euro)

v 2 T (Ringgit)
< 3. &= (Kwacha)
X 4 aOr (Peso)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

9489114626
94891118503
94891118501
94891118502
94891118504
Answered

Chosen Option : 1




Q13 R ww a3 F s Rreret &, 3T TSN F AR g TS St B i §1 '
N F AN F W T 39 Rt #r g & S aeies e o § SR wemer 28§

6\
3
ae X 1.2
X2 6
<37
vih
Question ID : 9489114597
Option 11D : 94891118385
Option 2 ID : 94891118387
Option 31D : 94891118388
Option 4 ID : 94891118386
Status : Answered
Chosen Option : 4
Q14 gEaE (BrahMos) gRETS f@ge & &9 v g9 353 2
Ans « 1. ﬂ
K 2 #E AR FgFT T=T FANGET (USA)
A3 a9 AR A=
X 4 AR AR T (UK)
Question ID : 9489114632
Option 11D : 94891118528
Option 2 ID : 94891118525
Option 31D : 94891118527
Option 4 ID : 94891118526
Status : Answered
Chosen Option: 2




Q.15 TraffE & & #iF & T8 Fae FaTT Foea (National Sample Survey Organisation) &7 SsTeT

EL
Ans X-].

Feror Bemea 3t H@F‘Eﬂﬁ g41eT (Survey Design and Research Division)

v 2

Te&T ety wisT (National Development Agenda)

X s a1 grafder fff== (Data Processing Division)
X 4 Ffres 3w F9ST (Field Operation Division)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489114639

94891118554
94891118553
94891118555
94891118556

Status : Answered

Chosen Option :

1

Q.16 A srer v @ 0 30 fiF F W T FEA 1 9E 6 B 3w A w e &, A B 3w 24 R

# I T Bl A 3R B e 37 S fhaw RE § 3 o w7

as 1. 20
<210
Vs 15
<4 25
Question ID : 9489113663
Option 1 ID : 94891114651
Option 2 1D : 94891114649
Option 31D : 94891114650
Option 4 1D : 94891114652
Status : Answered
Chosen Option: 3
Q.17 = e fFT o0 R ER-TE § ¥ A7 50 WE § @ § 9 v e ¥ e #owwa
ey
Ans  of 1. TALEN
< 2 TALER
X 3 LATER
# 4 ATLER
Question ID : 9489114603
Option 11D : 94891118409
Option 2 1D : 94891118412
Option 31D : 94891118410
Option 4 1D : 94891118411
Status : Answered

Chosen Option :

1




VP R # @ T @ v Wi g @ 3
Ans 1 39 (Ubuntu)

X 2. FFerdr (Calc)

X 3. fadrehordr (VisiCalc)

X 4 wFger (Excel)

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 9489114637

194891118545
194891118546
194891118547
194891118548
: Not Answered
Chosen Option :

Q19 B 3% & vF TEaw 14% F a7 | & A e 5 25.40 HUw F &= @, A 508 20%

ST B FH [EAF F FHT He¥ A S

Ans  of 1. 390
<2 330
<3 3120
X 4 360
Question ID : 9489113659
Option 11D : 94891114635
Option 2 1D : 94891114633
Option 31D : 94891114636
Option 4 1D : 94891114634
Status : Answered
Chosen Option : 1
Q.20 =fy we == & o= AT T F S S &, @ Ifomd F= d A 3 & et F s F=2 gem?
Ans X192
v29:1
<3 3:1
<43:2
Question ID : 9489113664
Option 11D : 94891114655
Option 21D : 94891114653
Option 31D : 94891114654
Option 4 ID : 94891114656
Status : Answered
Chosen Option : 2




02 By v gHEEROT & X # AW A S

V2401

X
X 6.25
Ans - X1 155
V2175
X375
<4275
Question ID : 9489113649
Option 11D : 94891114594
Option 2 ID : 94891114593
Option 31D : 94891114595
Option 4 1D : 94891114596
Status : Answered
Chosen Option : 2
Q22 500 =Hr 50% = 2500 =
Ans of 1.10%
< 2 30%
X< 3 20%
< 4 40%
Question ID : 9489113654
Option 11D : 94891114616
Option 2 1D : 94891114614
Option 31D : 94891114615
Option 4 1D : 94891114613
Status : Answered
Chosen Option: 1
Q.23 o Frg 22,400 F a9 W 20% F AT AT g1 I IEG F 2,600 F I T W g3 v
ey T T
Ans x 1. 359,
< 2 20%
< 3 25%
v 4 30%
Question ID : 9489113657
Option 11D : 94891114628
Option 2 ID : 94891114625
Option 31D : 94891114626
Option 4 ID : 94891114627
Status : Answered
Chosen Option : 4




02 Crafaf@a & @ g Ay & R e e e gaRT Far A 9
Mo gEdreaT AR
X 2 Aaeh w7
X 3. STy AfET
X 4 o= AfeT

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

9489114610

1 94891118440
194891118437
194891118438
194891118439
: Answered

01

Q.25 e & & #i7 & frew gooeia ¥ v e 2

Ans X 1. ITET
K 2 TR FETA
v o g7 grETer
X 4 FEA
Question ID : 9489114604
Option 11D : 94891118416
Option 2 1D : 94891118415
Option 31D : 94891118413
Option 4 1D : 94891118414
Status : Answered
Chosen Option : 3
Q26 B, A & I §1 B, AY IT T FHellar =T 1 A F AT Y FT T &7
Ans «
- ar
X 2. ETET/ATAT
X 3 amE
& 4. ST/ TS/ G/ ATHT/ATET
Question ID : 9489114600
Option 11D : 94891118398
Option 2 ID : 94891118400
Option 3 ID : 94891118399
Option 4 1D : 94891118397
Status : Answered

Chosen Option : 3




Q.27 ilil‘i=c‘,'sin(x7y):%5 3ﬁ'{cus(x+y):§%,ﬁx&ﬁ?yﬂmﬁ-lﬂiﬁw%&ﬂ?XEY%,Fﬁxaﬂm
1T F=TI

Ans X 1. BQ°
v 2 60°
X3 70°
X< 4 30°

Question ID : 9489113669
Option 11D : 94891114675
Option 21D : 94891114673
Option 31D : 94891114674
Option 4 1D : 94891114676
Status : Answered
Chosen Option: 2

Q.28 7w arFer ve F FY 20 AT H T F TERAT §, FAH ;A e 3w A 30 RE F W@ oA
T §1 AT ¥ v WY TAEeT FF a0 8, O 39 1 0 A A hae B s

Ans X116
v 12
X314
X418

Question ID : 9489113661
Option 11D : 94891114643
Option 2 ID : 94891114641
Option 31D : 94891114642
Option 4 ID : 94891114644
Status : Answered
Chosen Option : 2

Q29 417 o2 = w2, e 3k oT & w9 & Fw yer Rar smeem?
MW 4 g 10 e 3R 12 deE

X2 4 gz 17 B=e

X3 4 g 10 e 3t 20 a==

X4 4910 e ik 7 @==

Question ID : 9489114585

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891118339
94891118337
94891118338
94891118340
Answered

2




Q.30 #=r gfae fhw v = @i RE & @ & R @ @ w9 ek o weee # swee = owee

Exy
Ans
X T
v mgE
X 3. gEEIrd
X4 Ak
Question ID : 9489114599
Option 11D : 94891118396
Option 2 ID : 94891118394
Option 31D : 94891118395
Option 4 ID : 94891118393
Status : Answered
Chosen Option: 2
Q.31 fw o1r T F oMfET HeRT F T F0F SEAeeT § ¥ @i G 9% 78 ST o el 87
Russia is my country.
Ans o 1. Cloud
# 2. Rain
/< 3. Minor
< 4 Your
Question ID : 9489114581
Option 11D : 94891118323
Option 2 ID : 94891118324
Option 3 1D : 94891118321
Option 4 1D : 94891118322
Status : Answered
Chosen Option : 1
Q.32 s -
AT a8 ¥ 58 FE0 9= GeFar 27
Ans . .
X 1. HHAAr 3T (Amino Acids)
X 2 TEr (Starch)
X 3. FemsHraa (Glycogen)
v o BegErt (Cellulose)
Question ID : 9489114615
Option 1 1D : 94891118460
Option 2 ID : 94891118458
Option 3 1D : 94891118459
Option 4 ID : 94891118457
Status : Answered

Chosen Option : 1




Q33 g e B & 9RAT TREuE F FA0T 89 v S @ w5 gwae @

Ans
X< 1. Fae B dsaT 1945
v Fade B WS 1946
X 3. ¥R B =T 1949
X 4 Fiyae B =T 1936
Question ID : 9489114628
Option 11D : 94891118511
Option 2 1D : 94891118509
Option 31D : 94891118512
Option 41D : 94891118510
Status : Answered
Chosen Option: 2
Q.34 3
RS F TS HAET Fr TATIAT Hgs
Ans X1 1951
< 21949
/< 31948
v 2 1950
Question ID : 9489114640
Option 11D : 94891118558
Option 21D : 94891118559
Option 31D : 94891118560
Option 4 ID : 94891118557

Status : Answered
Chosen Option : 4

Ans

X 2 9w

v 5 gEarEr

< 4 aiterer

Q35 Rrea-fig S oie MAHT Ao 1S, F% JIE @7 e T # gorer §2
& 1. Tl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114608
94891118430
94891118432
94891118431
94891118429
Answered

3




Q36 zfy ot35°=2-v3 ¥, ar tan35°cot55° + tan 55°cot 35° T AT AT HITST|

A of 114
X215
X312
X413

Question ID
Option 1 ID
Option 2 ID

Option 31D :

Option 4 ID
Status

1 9489113671

194891114683
194891114684
94891114681

1 94891114682
. Answered
Chosen Option :

1

VY yrdr ToET FEE F GEUOAT F AT 81T F TEE0T B A2

A X1 @& R9eT (Lord Ripon)
X 2 &g & (Lord Lawrence)
X 3. &g &= (Lord Canning)
v 4 =g FHIE (Lord Dufferin)

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114619
94891118476
94891118473
94891118475
94891118474
Answered

4

Q.38 sy Ffu & e & ¥ FF ¥ gt F 70 B/ (Money bill) Fr afenfy fmar mr &2

MK IS 113
v 2 3T=se 110
X s =T 115
K o Hg=te 109

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114643
94891118571
94891118570
94891118569
94891118572
Answered

4




¥ PaE, AT 3k SR F T g
X RS e (storage unit)

V2 E‘-‘-ﬁ:d? gEaT (computer hardware)
X 3. &gl gfAe (control unit)
X 4. FHEYEY HFeaTL (computer software)

Question ID : 9489114636
Option 11D : 94891118544
Option 2 1D : 94891118543
Option 31D : 94891118542
Option 4 ID : 94891118541
Status : Not Answered
Chosen Option : --

¥ 56789214 & 5 F1 TAHT AT FT &2
Ans X 1. 5% 108

v 2 5x%x107

<3 5x%x10°

< 4 5x10*

Question ID : 9489113645
Option 11D : 94891114579
Option 2 1D : 94891114580
Option 31D : 94891114577
Option 4 ID : 94891114578
Status : Answered
Chosen Option : 2

1 3k 700 F @ F e FEE 17 ¥ U e 2

Ans X145
X2 42
X3 46
v 41

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113644
94891114575
94891114574
94891114576
94891114573
Answered

4




Q42 Which of the following does NOT come under Infrastructure?

Ans X 1. Sewage
/< 2. Electricity
+ 3. Entertainment
/< 4 Transportation
Question ID : 9489114641
Option 11D : 94891118563
Option 2 ID : 94891118562
Option 31D : 94891118564
Option 4 1D : 94891118561
Status : Answered
Chosen Option : 4
Q43 S gaTer suTeTT AT P deET # o #r 71 o)
ans X 1. 2017
< 2 2018
V'3 2014
< 4 2015
Question ID : 9489114642
Option 11D : 94891118567
Option 2 1D : 94891118568
Option 3 1D : 94891118565
Option 4 1D : 94891118566
Status : Not Answered
Chosen Option : --
Q44 wedmar &1 v Rl e seao 1, Fres FR0T 1857 & RelE # e 737
Ans « 1 %
X 2 gAN =g
X s st T
Y
K 4 ST ATl AT
Question ID : 9489114620
Option 11D : 94891118479
Option 2 ID : 94891118478
Option 3 ID : 94891118480
Option 4 ID : 94891118477
Status : Answered

Chosen Option :

1




Q45 = ¥ oo & 20% F I @ R W A 99 F st F fraa g & A fr e e, S

Ans

TS FAT W2

2
v 155%
2
X2 155%
2
X 3. 135%

2
X 4 145%

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113656
94891114624
94891114623
94891114621
94891114622
Answered

1

Q48G9 w7 7w 2950 ¥ 3R fw qew 21,140 &, & 9fdea wmer 7 AT

Ans

X 1. 40%
X 2 30%
v': 20%
X 4 10%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113655
94891114620
94891114619
94891114618
94891114617
Answered

3




Q47 BT F ¥ i 2019 F IR o ST = aTT Afeadr § onfie =& 27

K g

Question ID : 9489114607
Option 11D : 94891118426
Option 2 1D : 94891118427
Option 31D : 94891118428
Option 4 ID : 94891118425
Status : Answered
Chosen Option : 2

P Grafafea F ¥ FiF @ e 9 @ e 37
e g

X 2 ST T

X3 2fem &9

v 4 TR F9

Question ID : 9489114605
Option 11D : 94891118419
Option 2 ID : 94891118418
Option 31D : 94891118417
Option 4 ID : 94891118420
Status : Answered
Chosen Option : 1




Q.49

Ans

Y gl H, EPROM T qUT &7 4T §?

Ko

Extended Programme Rewritable Only Memory (THEET WA {Rmseaer 3=l AAE)

X 2

Electronic Programmable Retrieve Only Memory (Selgiisier Samaee e sdiaer Aa1)

X 3

Executable Programme Revise Only Memory (tisegeeas Siama Rass sieen HAN)

v

Erasable Programmable Read-Only Memory (Z¥3=a SEmass fg-3i==ir A=)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

9489114638

94891118549
94891118552
94891118551
94891118550

: Answered
|

V ganw R Reafaearem & wuvar w o o6

ans X1.1918
< 21921
V'3 1916
< 41919
Question ID : 9489114606
Option 11D : 94891118422
Option 2 1D : 94891118424
Option 3 1D : 94891118421
Option 4 1D : 94891118423
Status : Answered
Chosen Option : 4
Q.51 - =
qgelr 15 W WEITHT H FATA ATCH A HITAT|
A X116
<215
v 38
K49
Question ID : 9489113672
Option 11D : 94891114687
Option 21D : 94891114686
Option 3 1D : 94891114685
Option 41D : 94891114688
Status : Answered
Chosen Option : 3




Q52 zz o/ ¥ OXr FEW BT, S 10, 14 3R 28 F fysrew §, AR v OO T R

Ans X 1.140
< 218600
< 3. 19600
v 4 4900
Question ID : 9489113647
Option 11D : 94891114585
Option 2 ID : 94891114587
Option 31D : 94891114586
Option 4 1D : 94891114588
Status : Answered
Chosen Option : 4
Q.53
_ 7ua (UN) =T T T REw B
Ans

V1 24 FFEET 1945
X 2. 20 AT 1932
X 3 21 37FEET 1950
X 4 29 AT 1946

Question ID : 9489114633
Option 11D : 94891118531
Option 2 ID : 94891118530
Option 3 1D : 94891118529
Option 4 ID : 94891118532
Status : Answered
Chosen Option : 1
Q.54 i 4
frafafea & & Fia @ gand @ &R 78 82
Ans
X 1. SETTHET faEhe
X 2 HHE % 36T qFGell (Submarine Landslides)
X 3 g
o~
W 4 FET E
Question ID : 9489114624
Option 11D : 94891118495
Option 2 ID : 94891118494
Option 31D : 94891118493
Option 4 ID : 94891118496
Status : Answered

Chosen Option : 4




A55 19300 zk 20 T FReNfaE Fer W ANEST TFaaT IIeg MY

Ans x 1.3
v 2 1
<33
<44
Question ID : 9489113653
Option 11D : 94891114610
Option 2 ID : 94891114609
Option 31D : 94891114611
Option 4 ID : 94891114612
Status : Answered
Chosen Option : 2
Q.56 I foralt sgea & el oF Sfgseol F e 36° 3, o sgele & st # wEw A= A
as K17
X2 8
V35
<46
Question ID : 9489113673
Option 11D : 94891114691
Option 2 ID : 94891114692
Option 3 1D : 94891114689
Option 4 ID : 94891114690
Status : Answered
Chosen Option: 3
Q.57
URT & I=EaH SOt HT TUH HJigem saramedrer s ofr?
A
"KL AR STHA
X 2 sfEar sa=t
v 3 Tl wIfgAT §Er
X 4. G & A
Question ID : 9489114629
Option 11D : 94891118516
Option 21D : 94891118514
Option 31D : 94891118515
Option 4 1D : 94891118513
Status : Answered
Chosen Option: 2




Q.58 =7 = @ 9% dear Ay, SEE 128, 303 3 247 i REfew == W AW 4, 7 #1999 ww=Er

gl
Ans « 1. 4
X227
<36
K45
Question ID : 9489113652
Option 11D : 94891114605
Option 21D : 94891114608
Option 31D : 94891114607
Option 41D : 94891114606
Status : Answered
Chosen Option : 1
a9 T y= o5 & &z F A = A
Ans
¥
?<F1 lDE;E (x)
log.(2 + a)
X 9 lﬂge {:X_ Y)
log. (2 +a)
: log. (3)
s PNy
log.(2 +a)
log. (f)
X 4 v
log.(2 -a)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113667

94891114666
94891114667
94891114668
94891114665
Not Answered




Q60 =7 fareT 1 T Y, Forma WY o & T T §, S WY e F UGS o F P

gﬁiﬁr:ﬁa‘lﬂ'::m:?

Ans X ¢
- Rar
<2 3E
vioomE
<4 gier
Question ID : 9489114578
Option 11D : 94891118312
Option 2 ID : 94891118309
Option 31D : 94891118311
Option 4 ID : 94891118310
Status : Answered
Chosen Option: 3
Q.61 If the sum of two numbers is 30 and the product is 50, then the sum of their reciprocals is:
Ans 3
vz
5
2
p
5
h
% 3.
a3
h
x4 2
2
Question ID : 9489113666
Option 11D : 94891114662
Option 2 ID : 94891114661
Option 31D : 94891114663
Option 4 1D : 94891114664
Status : Answered

Chosen Option :

1




Q62 mEmifEar (Pseudopodia) T HAiSg TR ST 3PS AT T E

Ans

v 1. HHEET (Amoeba)

< 2 grggr (Hydra)

X 3 éﬁaaa'r (Earthworms)
X 4 SrfmE (Paramecium)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489114613

94891118450
94891118451
94891118452
94891118449
Not Answered

063 =haom fAfyer OfT & TSR TET S AT T AR FiF 9

Ans

X 1. STeF Fa =T

X 2. QTHAT FUT FAT

v o goigaTy &R
X o ghemé T

Question ID :
1 94891118466
1 94891118468
Option 31D :

Option 11D
Option 2 1D

Option 4 ID

Chosen Option

9489114617

94891118465

1 94891118467
Status :
03

Answered

084 37 gEaT Y TEEE FY, S A & 7F Aok ¥ Sea a6

Ans

5, 10, 17, 28, 42, 58, 77

X117
X 2 58
X3 28
v 42

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489114587

94891118345
94891118348
94891118346
94891118347
Not Answered




¥ o & A, W 9Ratad @ T 8l
e e s

X2 mer A&

x o TR &

X 4 orér ordr et #

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114614
94891118454
94891118455
94891118456
94891118453
Answered

1

Q66 gfx 5 3T b FT FTT. (LCM) ¢ &, & 3% F.A.T. (HCF) 71g S

Ans bc

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 9489113648

1 94891114592

1 94891114591

1 94891114589

1 94891114590
Status :

Chosen Option :

Answered
3




7 SEHST WEHST $r TUTIAT fhEe v o
s X TERIeTeE SEEAT

v 2 ET3EA TEAA UE (3% gHA 79
X 5. AgFAS o FITew

<4 AT ST
Question ID : 9489114618
Option 11D : 94891118470
Option 2 ID : 94891118469
Option 31D : 94891118471
Option 4 1D : 94891118472

Status : Answered
Chosen Option : 2
Q.68 ( 2 2
317 +2.12)° +(3.17-9.12)
T HH AT HIT=T
317 X317+ 912912
Ans x 1.1

<24

<33

Va2
Question ID : 9489113651
Option 11D : 94891114604
Option 2 1D : 94891114601
Option 31D : 94891114602
Option 41D : 94891114603

Status : Answered
Chosen Option : 4

Q.69 Ffr K = 163k ROW = 25 ¥, & NECK & 71 eafofaa & ¥ fFas st aem?
Ans X 1. 33

<2 47

< 3 57

v 4 75

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114577
94891118305
94891118306
94891118307
94891118308
Answered

4




@7 aierpfE (nematode) F A ¥ Fia @1 I Hisg A&7 gaT 22

e XK oot
X< 2 3cEeT a9
V5 gEe a9
K4 o J9
Question ID : 9489114616
Option 11D : 94891118463
Option 2 1D : 94891118462
Option 31D : 94891118464
Option 41D : 94891118461
Status : Answered
Chosen Option : 4
Q.71 T TEITE 399 § oW e Aafet e @eea (ISRO) & 9ger | aeTed 1979 #
T U9 AT FF § T faam am
Ans a "
X 1. fgmarit 8 (Himawari 8)
X 2 Frefde (Cartostat)
« 3 Afeo (Rohini)
X 4 gade 3DR (Insat-3DR)
Question ID : 9489114631
Option 11D : 94891118522
Option 21D : 94891118523
Option 31D : 94891118521
Option 4 1D : 94891118524
Status : Answered
Chosen Option : 4
Q.72
TUH FAANS TERR =il Hlef 472
Ans =
W ST ERT FI9
< 2 sETIIERT el
X 3. IFAT GIaH
X 4. 3ATMOT 4
Question ID : 9489114609
Option 11D : 94891118435
Option 2 ID : 94891118436
Option 31D : 94891118434
Option 4 ID : 94891118433
Status : Answered

Chosen Option : 1




Q.73 #fa= 80 kmh I I ¥ FR T §T OF ARET g 77 Far ¢ 3R 50 kmvh F T F T
el gT 3Ry g A stear g1 g A F = 3w e 9 xees F 2 3 A A

Eaie ]
Ans X 1. 60.26 km/h

X 2. 63.43 km/h
# 3 62.42 km/h
' 2 6154 km/h

Question ID : 9489113662
Option 11D : 94891114645
Option 2 ID : 94891114648
Option 3 1D : 94891114647
Option 4 ID : 94891114646
Status : Answered
Chosen Option : 4
Q.74 gy fralr oo &1 Twr & 25% @ A & & S0, O gHe SNhe # Fr =& g F=T F
ans X1 50%
< 2 56.25%
X 2 6.25%
v 4 43.75%
Question ID : 9489113665
Option 11D : 94891114657
Option 2 ID : 94891114660
Option 3 1D : 94891114659
Option 4 1D : 94891114658
Status : Answered
Chosen Option : 4
Q75 gfy A @ ad < § B @ ay wE #C s owd % E a 9C5B10A5C12 FT AT w7 g m?
Ans x 1. 6
X2 +6
vz 5
X 4 +5
Question ID : 9489114594
Option 11D : 94891118375
Option 2 ID : 94891118376
Option 31D : 94891118374
Option 41D : 94891118373
Status : Answered
Chosen Option : 3




Q76 T AT WeX BR USATEE doelleel Y TUTeT @y o o
Ans 1. 1961

< 21989

V' 1984

< 41981

Question ID : 9489114630
Option 11D : 94891118517
Option 2 1D : 94891118520
Option 31D : 94891118519
Option 4 ID : 94891118518
Status : Not Answered
Chosen Option : --

7 ST R F T ST FROT EAfaT F F w82
A X1 e Sue (Aviation fuels)

X 2. SETTHE" faEwie (Volcanic eruptions)

v 5. FRITeRIRE (Chlorofluorocarbons)

X 4 st BROT (Radioactive rays)

Question ID : 9489114634
Option 11D : 94891118534
Option 2 1D : 94891118535
Option 31D : 94891118536
Option 4 1D : 94891118533
Status : Answered
Chosen Option: 3

Q78 =z ww agsTr FFOT4: 81 11 1 12 % qwd # &, O TAE 9B FU & A 94 § Bwd swew
&

Ans  of 1. 120°
X2 72°
X3 168°
X 4 166°

Question ID : 9489113668
Option 11D : 94891114670
Option 2 ID : 94891114669
Option 31D : 94891114672
Option 4 1D : 94891114671
Status : Answered
Chosen Option : 1




Q.79 wx ge 3T I T Ry o ¥ 590 F i ¥ Fue v &7 30T & F ROvw smmemeaam 2

Ans

oo -
M 7 R #7272
FUT :

|- P 3t Q smdems &

[l - Q # Ter, M &1 Teit Fr 787 2

v Fya | 3R I S AT a8 E
X 2 et | 3eher AT Bl

X 3 Fue | AT 1l T =T §
X 4 FYeT || 3Fer gITeT g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114582
94891118325
94891118327
94891118326
94891118328
Answered

1

Q80 i Ffue & B el F HoT TEEAT $ HfUeR @ seow A 2

Ans

X 3-1@?&3 23-24
X 2 =T 25-28
v 5 IT=ST 14-18
r 3-1351—»&3 19-22

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1 9489114627

1 94891118506

1 94891118505

194891118508

1 94891118507
Status :

Chosen Option :

Answered
3




HEAT T g HEAr ¥

282 =829

Q.81 =7 Fem & 70 F{, e 9= TEw ® 98 wEy § S =i e & Sl vem @ e g

Chosen Option :

ans X1 121
~< 2102
< 3 108
v 4 110
Question ID : 9489114575
Option 11D : 94891118299
Option 2 1D : 94891118297
Option 31D : 94891118298
Option 4 1D : 94891118300
Status : Answered
Chosen Option : 4
Q82 3= gfEwa &€ (Great Indian Desert) sTRT F form oo & g &7
e X0 et ey #
X2 3l Rea &
Xo &b fEw 7
vooofteAr TEE A
Question ID : 9489114622
Option 11D : 94891118488
Option 21D : 94891118486
Option 3 ID : 94891118485
Option 4 1D : 94891118487
Status : Answered
Chosen Option : 4
Q.83 zg FEmr # TIw F, I A R e greew & ved REd (7) F T 9T 37T T B
o7\ s Lol 5 . i o W
ans X136
v 4
X210
<4 21
Question ID : 9489114579
Option 11D : 94891118315
Option 21D : 94891118314
Option 31D : 94891118313
Option 4 1D : 94891118316
Status : Answered

1




Q.84 9z ‘FrET (Comet) T e ¥ HAT g, TSwe 3 T IT aer anr gl

Ans x 1. * ﬂ ?
V2 W
X3 AT
X4 @
Question ID : 9489114623
Option 11D : 94891118491
Option 2 1D : 94891118490
Option 31D : 94891118489
Option 4 1D : 94891118492
Status : Answered
Chosen Option : 2
Q85 grzicam=w (Cytoplasm) T =& ST &9 gaT &, = # #HieE g
A 3 + *
® XK. Fgw 3 FifEEET =
X 2 Farat A Faer F =
v dgw iR Fife @R A
X 4 gt 3t FifREET F &=
Question ID : 9489114612
Option 11D : 94891118447
Option 2 ID : 94891118446
Option 31D : 94891118448
Option 4 ID : 94891118445
Status : Answered
Chosen Option: 3




Q.86 RT srr wE-=E &, TR 300 HNRAT ZART 5 HERT-HET Bl (Games) FT TTT AT U §, O e

T@enfsar o SifFET (Boxing) & 90 faam &2

Games

® Football
® Hockey
 Cricket
* Tennis

M Boxing

Ans X 1. 55
< 2 60
X375
v 4 45
Question ID : 9489114589
Option 11D : 94891118356
Option 2 ID : 94891118353
Option 31D : 94891118354
Option 4 ID : 94891118355
Status : Answered
Chosen Option : 4
Q.87 far ow de 1 COAEE FeTAA HL AT 3 TEA F TIF FY, FOFH T A (7) F W W
HTTAT
2 1 S
6 @4 6 @3 4 @ .
3 3 2
Ans  of 1. 4
<210
<32
< a7
Question ID : 9489114590
Option 11D : 94891118360
Option 2 ID : 94891118358
Option 3 ID : 94891118357
Option 4 ID : 94891118359
Status : Answered

Chosen Option :

1




Q.88 &r 1€ ofic F HigH{ TF U FAGT AT §| SH Wb F4 UF H A e 96T Hag F S 9 997 Hag

97 iF W 3EW gem?

F t A
B
C
D:E |
Ans x 1. E
< 2B
<3D
vicC
Question ID : 9489114591
Option 11D : 94891118364
Option 21D : 94891118361
Option 31D : 94891118363
Option 41D : 94891118362
Status : Answered
Chosen Option : 4
Q.89 Rar s 3@ & Filke et A it B ganr 9§ 2015 & 2018 &% Hea gfaera &t & geiiar 2
afy A #7 =3w 2 60 &M@ o, ar 2018 F A 1 31w (2 ) raew 9
80
60 w65 -—‘Tf—'_' 65
\\’ﬁ—-—' a 50
e L@"‘-r’as
20
1]
2015 2016 2017 2018
Ans 1. 65 AT
< 2 100 =@
V'3 99 FT@
K 4 50 oF
Question ID : 9489114592
Option 11D : 94891118366
Option 2 1D : 94891118367
Option 31D : 94891118365
Option 4 1D : 94891118368
Status : Answered

Chosen Option :

1




Q.90 #=r & ¥ I FEmat F ¥ I T weR ¥ T ¥ it ow aweT ¥ sre O & 9ee S

Ans X 1. 348
v 2 413
<3435
< 4 342
Question ID : 9489114586
Option 11D : 94891118344
Option 2 ID : 94891118341
Option 3 ID : 94891118342
Option 4 ID : 94891118343
Status : Answered
Chosen Option : 2
91 of¥ EGA = 25491 §, & CAD & A ==& ¥ e sT&T aem?
Ans 1. 25166
<2 2216
X< 3 52122
v 4 9116
Question ID : 9489114601
Option 1 1D : 94891118404
Option 2 ID : 94891118402
Option 3 1D : 94891118403
Option 4 ID : 94891118401
Status : Answered
Chosen Option : 4
Q.92 I T v oTv A wel A W O BT awE ¥ T § @R v 3T {1 SIS @ T
Ans % .
v 1. §=f8es (Badminton)
X 2 BT=a or (Discuss Throw)
X 3 gAT 9 (Hammer Throw)
X< 4 AT < (Shot Put)
Question ID : 9489114595
Option 11D : 94891118378
Option 2 ID : 94891118379
Option 31D : 94891118377
Option 4 1D : 94891118380
Status : Answered
Chosen Option : 4




Q93 frv v et F ¥ 3@ T A TS F S AT & T Ao ¥ wERS A& B

1.3 7 15,33
ae X115
X2 1
X3 7
v 4 33
Question ID : 9489114584
Option 11D : 94891118335
Option 2 1D : 94891118333
Option 31D : 94891118334
Option 4 1D : 94891118336
Status : Answered
Chosen Option : 4
Q.94 T gz smor F COPPER # FQTRJT forem =i &, ot 33 g2 s & SILVER &7 & form smeem?
Ans 1. VOPYTJ
<2 UJaMJT
v 3 VKPXJT
< 4 WINXTJ
Question ID : 9489114580
Option 11D : 94891118318
Option 21D : 94891118319
Option 31D : 94891118320
Option 4 1D : 94891118317
Status : Answered
Chosen Option : 3
% afr14 513 x 3 =81 % A 17 4+ 16 X 2 & A=A A H=w]
ae X172
<2 49
v 3 66
< 4 50
Question ID : 9489114583
Option 11D : 94891118329
Option 2 1D : 94891118332
Option 31D : 94891118330
Option 4 1D : 94891118331
Status : Answered
Chosen Option : 3




Q.96 Rmr T 3= M@ 350 Pl F ¥ &= st & fafdrear (distinction) STeT FEer TTer RgiEt #r
TET F g §1 3 faeafiat @ gfoew g fife, Tl due o et & e goa $roae

<
V,
Ans o 1. 20%

2
< 2 32%

<3 18.5%
<4 25%

ENGLISH

Question ID : 9489114598
Option 11D : 94891118391
Option 2 1D : 94891118390
Option 31D : 94891118389
Option 4 1D : 94891118392
Status : Answered
Chosen Option: 3

Q.97 =7 fRered 1 v N, forwe S oeg & 98 FeY ¢, S g@Y e # Ug g F P
sitagder ; 155 ;- =T 7

Ans «1_ 31?:[
X 2 gige
X 3 gAHE

X 4 e

Question ID : 9489114602
Option 11D : 94891118407
Option 2 ID : 94891118408
Option 3 ID : 94891118405
Option 4 ID : 94891118406
Status : Answered
Chosen Option : 2




Q.98 37 Frar #7 9ua FY, S AT & 75 S F wod FE (?) F TS 9T 37 THAT B

Ans

18 : 324 : 5832 = 36 : 12986 : 7

v 1. 46656
< 2 2592
< 3 5833
<4 23328

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114574
94891118295
94891118293
94891118294
94891118296
Answered

4

Q99 37 3= @ F T F, T A R v T F wHeww F f9 F @@y # wEaA @ F Ry

Ans

LT gl

v

K2

©@gE®

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 41D :
Status :

Chosen Option :

1 9489114596

194891118381
194891118384
194891118383

94891118382
Answered
1




Ans

10

0|15 |52

Z

1.
x Y | X
W X

2.
x Z | Y
X W

3.
x Z|Y
X|W

F 4.
‘, X |E

Q100 37 famrew 1 =@ HY, for@en S Yot & T Taw §, S gEY e F 9ge Yo B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114593
94891118370
94891118371
94891118369
94891118372
Answered

4
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